
Yamaha Wolverine RMAX  Rear Bumper 
P/N: 14315 

Fits: 2021 RMAX 1000 
 

Installation Instructions: 

Includes: 
1. (1) Rear Bumper (12494) 
2. (2) Mounting Brackets 

(Passenger and Drivers 
sides) 

 
Hardware Kit: 
1. (4) Stud Plates (3/8” x 1” 

Carriage bolt welded on 
them-Zinc plated) 

2. (2) Nut Plates (5/16-18 
Threaded holes-Zinc Plat-
ed) 

3. (4) 3/8” x 1” Carriage 
Bolts-Black 

4. (12) 3/8-16” Nylon Nuts-
Black 

5. (4) 5/16”x 1” Flange Bolts-
Zinc Plated. 

6. (1) Logo Sticker 
 
Tools Needed: 
1. 1/2” Wrench 
2. 5/8” Wrench 
 
 
 
 

Installation should be done by a 
certified technician. 
 
Installation: 
1. Inspect parts for shipping dam-

age.  Once, parts are installed 
they can not be returned. 

2. Look at the parts diagram and 
familiarize yourself with the 
parts. 

3. Install the side brackets using 
two stud plates per side.  The 
stud plates will go into the bed 
and down through the bumper 
putting the 3/8” nylon flange 
nuts on the bottom.  Do not 
tighten yet. 

4. Attach the rear of the brackets to 
the frame using the 5/16” bolts 
and threaded nut plates.  Insert 
the nut plates in from the rear.  It 
is tight fit. Do not tighten yet. 

5. Mount the bumper to the brack-
ets using the carriage bolts and 
remaining nylon flange nuts. 

6. Once, all the hardware is hand 
tight you can not tighten all the 
hardware using your wrenches. 

 
There is a video on our website if 
you need additional help or call us. 



Fig.1 

Fig. 2 

Fig. 3 

Fig. 4 


